PRELIMINARY ROUND / VONG LOAI QUOC GIA
PE SO 1
Logical Thinking/ Tw duy logic

Q1.[2.1.1]

Michael’s class has 5 boys and 6 girls. How many classmates does he have?

Lop cua Michael co 5 ban trai va 6 ban gai. Hoi Michael c6 bao nhiéu ban cuing
lop?

A. 11 B. 10 C.12 D.9
Solution:

5+ 6 — Michael = 10

Key: B

Q2. [2.0.2]

If today is Wednesday and also the first day of March. Which day of the week is 9™
March?

Néu hém nay la thir Tw va ciing la ngay dau tién ciia thang 3. Vay ngay 9 thang 3 la

ngay thir may?

A. Wednesday (Thu Tw) B. Saturday (Thir Bay)
C. Friday (Thw Sau) D. Thursday (Thir Nam)
Solution:

9-1=8

8—-7=1

Monday Tuesday Wednesday Thursday Friday  Saturday Sunday

today 1
later

Key: D



Q3. [2.1.3]
According to the pattern below, find the 15th figure counting from the left.
Duva vao quy ludt duoi day, tim hinh thi 15 tinh tir bén trai.
A0 A0 A ...
A. [ B. C.Aa
D. [

Solution:

The pattern : 4 figure A * O I:l

Q4. [2.14]

Dan celebrated his 6th birthday 3 years ago. How old will he be 2 years later?

Dan t6 chirc sinh nhdt lan thiv 6 vao 3 nam treée. Hoi 2 nam nita anh dy mdy tudi?
Al B. 11 C.7 D.5
Solution:

6+3=9

9+2=11

Key: B

Q5. [2.1.5]
According to the pattern below, what is the value of the next number?
Duea vao quy ludt cia ddy sé sau, gid tri ciia sé tiép theo la s6 nao?
50, 3, 45, 6, 40,9, 35, 12, ...
A. 13 B. 15 C.25 D. 30

Solution:



50, 45, 40, 35, 30
Key: D
Arithmetic/ S6 hoc

Q6. [2.01.1]
Find the value of 5+6+7+ 8 +9 + 10.

Timgidtricua5+6+7+8+ 9+ 10.

A. 50 B. 55 C.40 D. 45
Solution:
546+7+8+9+10=5+10)+(6+9)+(7+8)=15+15+15=3x15=45
Key: D

Q7. [2.11.1]

Calculate 13 - 11 +9-7+5 -3 + 1.

Tinh13—11+9-7+5-3+1

A. 14 B.6 C.7 D. 10
Solution:
13-11+9-7+5-3+1=(13-1)+0O-7)+(5-3)+1=2+2+2+1=3x2
+1=7

Key: C

Q8. [2.01.1]

Gordon thinks of a number. He adds 38 then subtracts 42 to get the smallest 2-digit
odd number. Find Gordon’s number.

Gordon nghi ra mét s6. Anh dy ldy sé do cong thém 38 roi trir di 42 thi dwoc s6 1é
nho nhat cé hai chit s6. Tim s6 do.

A. 15 B. 25 C. 14 D.7



Solution:

11 +42=353
53-38=15
Key: A

Q9. [2.11.1]

Let X and Y be different 1-digit numbers. If the equation below is correct, find the
value of Y.
Cho X va Y la cdc s6 c¢é mét chit s6 khdc nhau. Biét rang phép todn dwdi ddy la

dung, tim gia tri cua Y.

X Y
+ Y
N 8
A. 4 B. 8 C.9 D.7

Solution:
Y+Y=18;Y=9
X+1=4;X=3
Key: C

Q10. [ 2.0L1]
According to the pattern of the following sequence, find the sum of the first eight
numbers.
Duea vao quy ludt ddy sé dudi ddy, hdy tim téng cia 8 s6 dau tién.
1,1,2,3,5,8, ...
A. 21 B. 54 C.44 D. 34



Solution:

1+1=2

1+2=3

2+3=5

3+5=8

5+8=13

8+ 13 =21
1+1+2+3+5+8+13+21= 54
Key: B

Number Theory/ LY thuyét sb

Q11. [ 2.I1L.1 ]
According to the pattern below, find the value of the 7™ number in the sequence.
Duea vdao quy ludt dirdi ddy, tim gid tri ciia so thit 7 trong day.
Sl Nt SY ...
A. 18 B. 19 C.23 D. 27
Solution:
7-3=4
3+6%x4=3+24=27
Key: D

Q12. [2.011.2 ]

From 7 to 23, how many 2-digit numbers are there?

Trong cac s tir 7 dén 23, héi ¢6 bao nhiéu sé cé hai chii s6?

A. 13 B. 14 C. 15 D. 16
Solution:

10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23



Key: B

Q13. [2.IL3]

Cara has 40 candies and Jolie has 20 candies. How many candies does Cara have to
give Jolie to make them have the same number of candies?

Cara co 40 cai keo va Jolie co 20 cai keo. Hoi Cara phai cho Jolie bao nhiéu cdi

keo dé hai ban co so keo bang nhau?

A. 20 B. 15 C. 10 D.5
Solution:

40-20=20

20 +-2=10

Key: C

Q14. [2.111.2 ]
Refer to these numbers, how many odd numbers greater than 39 are there?
Trong cdc sé dudi day, hoi ¢6 bao nhiéu sé'1é'16m hon 39?
12, 15, 28, 93, 35, 41, 90
A.3 B.2 C. 4 D.1
Solution:
93,41
Key: B

Q15. [ 21115 ]
Fill in the blank to get a correct equation.
Dién s6 thich hop vdo ché trong dé dwoc phép todn ding.
_ +27=19+48-23
A. 17 B. 27 C. 6l D. 71



Solution:

X+27=67-23
X+27=44
X=17

Key: A

Geometry/Hinh hoc

Q16. [2.1V.1]
At least how many cubes are there in the figure below?
Hinh dudi ddy 6 it nhat bao nhiéu khoi ldp phirong?

A P

A.8 B.7 C.6
Solution:

1+5+2=8

Key: A

Q17. [2.0V.1]
At least how many squares can be seen if viewing the figure from top?

Néu nhin hinh tir trén xuéng cé thé nhin thdy it nhat bao nhiéu 6 vuéng?

D.9



Solution:
3+1+1=5
Key: D

Q18. [2.1V4]
How many triangles are there in the figure below?

Hinh dwoi day co bao nhiéu hinh tam giac?

/N

A.S B. 8 C. 10 D. 12
Solution:

10 triangles

Key: C

Q19. [2.0V.2]
Daniel draws 6 lines on a sheet of paper. At most how many squares can be formed

by Daniel?



Daniel vé 6 dwong thang trén mét to gidy. Hoi anh dy c6 thé tao ra nhiéu nhat bao
nhiéu hinh vuong?
Al B.4 C.5 D.6

Solution:

4+1=5
Key: C

Q20. [ 2.0IV.7]
According to the pattern shown below, how many circles are there in the first 20
figures?

Duea vao quy ludt dudi ddy, héi ¢é bao nhiéu hinh tron trong 20 hinh dau tién?

Alll Al Al
A. 6 B. 8 C. 10 D. 12
Solution:
The pattern : (0 AOQO
20+-5=4
4x2=8
Key: B

Combinatorics/ Té hop

Q21.[2.V.6 ]



Separate the following stars into 3 equal groups. How many stars are there in the
first 2 groups?
Chia cdc hinh ngdi sao dudi ddy thanh 3 nhém bang nhau. Héi ¢é bao nhiéu hinh

ngoi sao trong 2 nhom dau tién?

L .0 0.0 0 6 6 &
A3 B. 4 C.6 D.9
Solution:
9+3=3
3x2=6
Key: C

Q22. [2.V.2]
Arrange these numbers in descending order to find the 4th largest number.
Sdp xép cdc s6 sau tix [6m dén bé dé tim so 16n thir tu.
23,91,73, 39, 46, 82, 50
A. 39 B. 50 C. 46 D. 73
Solution:
91, 82, 73, 50, 46, 39, 23
Key: B

Q23. [2.V.1]

Tom chooses 2 different digits from 1, 4 and 7 to form 2-digit numbers. Among
those numbers, how many odd numbers are there?

Tom chon 2 chir sé6 khéac nhau tir 1, 4 va 7 dé ldp thanh cac s6 ¢6 hai chit s6. Hoi
trong 56 d6 ¢é bao nhiéu sé 16?

A3 B. 4 C.5 D.6



Solution:
41,71, 17,47
Key: B

Q24. [2.V.3]

In how many ways can we distribute 6 identical flowers into 3 different vases given
that no vases are empty?

Hoi ¢6 bao nhiéu cach dé cam 6 bong hoa giong nhau vao 3 lo hoa khdc nhau sao
cho lo nao ciing co hoa?

A.2 B.9 C. 10 D. 18
Solution:

114;123;132;141

213;222;231

312;321

411

Key: C

Q25.[2.V.3]

Kesha has 2 different T-shirts and 3 different pants. Each day, she mixes a shirt with
a pant to make a set of clothes. At most how many different sets of clothes can she
mix?

Kesha cé 2 chiéc do phéng khéic nhau va 3 chiéc quan khéc nhau. Méi ngay, cé bé
phéi 1 chiéc do véi 1 chiéc quan dé c¢6 mét bo qudn do. Hoi ¢é bé cé thé phéi nhiéu
nhdt bao nhiéu bé qudn do khdc nhau?

A. 6 B.3 C.5 D.8
Solution:

2x3=6
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